












  

 NWTE 
 2210 Hewitt Ave, #209 

 Everett, WA 98201 
 Phone: (425) 258-4248 
 FAX: (425) 258-4289 

Job: 181700.02 Rev1 90-ft SSV WSDOT Hyak, WA
 Project: Proposed Extension & UG Vasd=85-mph, 50-mph With 1" I
 Client:  Odelia/PSERN  Drawn by: Kirk  App'd: 

 Code:  TIA-222-G  Date: 02/09/18  Scale:  NTS 
 Path: 

P:\Projects 2018\King County PSERN\181700.03 60' SS WDSOT Hyak, WA ReAN PSERN\Analysis\181700.03 90' SSV WSDOT Hyak, WA proposed UG.eri

 Dwg No. E-1

90.0 ft

80.0 ft

60.0 ft

40.0 ft

20.0 ft

6.7 ft

0.0 ft

REACTIONS - 85 mph WIND
TORQUE 10682 lb-ft

14452 lb
SHEAR

690596 lb-ft
MOMENT

11116 lb
AXIAL

50 mph WIND - 1.0000 in ICE
TORQUE 2846 lb-ft

6426 lb
SHEAR

314581 lb-ft
MOMENT

57814 lb
AXIAL

SHEAR:  7193 lb
UPLIFT:  -55019 lb

SHEAR:  8771 lb
DOWN:  66911 lb

MAX. CORNER REACTIONS AT BASE:

ARE FACTORED
ALL REACTIONS

  S
ec

tio
n

T1
T2

T3
T4

T5
T6

  L
eg

s
R

O
H

N
 2

.5
 S

TD
 (2

.8
75

"x
.2

03
)

R
O

H
N

 2
.5

 E
H

 (2
.8

75
"x

.2
76

)

  L
eg

 G
ra

de
A

57
2-

50

  D
ia

go
na

ls
L1

 3
/4

x1
 3

/4
x3

/1
6

L2
x2

x1
/4

L2
 1

/2
x2

 1
/2

x3
/1

6
L3

x3
x1

/4

  D
ia

go
na

l G
ra

de
A

36

  T
op

 G
irt

s
L2

x2
x1

/8
N

.A
.

L2
x2

x1
/8

N
.A

.

  S
ec

. H
or

iz
on

ta
ls

N
.A

.
L2

x2
x1

/4

  F
ac

e 
W

id
th

 (f
t)

8.
56

25
10

.6
04

2
11

.9
37

5
12

.6
04

2

  #
 P

an
el

s 
@

 (f
t)

10
 @

 5
6 

@
 6

.6
66

67

  W
ei

gh
t (

lb
)

49
3.

0
87

6.
1

11
75

.1
11

99
.6

10
22

.1
69

0.
1

54
56

.0

 DB Spectra DS7D06F36U-N (WSDOT)  90 4' Lightning Rod on 15' Extension Pipe (Tip 104')  86 Dish Mount (PSERN)  85 4' MW HP (PSERN, Dodge Ridge)  85 Dish Mount (relocate)  80 4' MW HP (WSDOT, Dodge Ridge)  80 Standoff Mount (WSDOT)  65 3' omni (WSDOT, relocated)  65 Standoff Mount (WSP)  63 5' omni (WSP, relocate)  63 Dish Mount  59 8' MW RAD (WSDOT, Stampede)  59 Platform  55 Platform  55 Platform  55 2' MW STD (WSDOT, Dodge Ridge)  52 CCTV  45 4' MW HP (WSDOT, Stampede)  44 Dish Mount  44 Junction Box  42 CCTV  42 Junction Box  42 Junction Box  42 Platform  40 Platform  40 Platform  40 16"x12" Panel  36 6' MW HP (PSERN, Stampede)  35 Dish Mount (PSERN)  35 Single Loop Dipole  17 DESIGNED APPURTENANCE LOADING
TYPE TYPEELEVATION ELEVATION

 DB Spectra DS7D06F36U-N (WSDOT)  90
 4' Lightning Rod on 15' Extension Pipe (Tip 104')  86
 Dish Mount (PSERN)  85
 4' MW HP (PSERN, Dodge Ridge)  85
 Dish Mount (relocate)  80
 4' MW HP (WSDOT, Dodge Ridge)  80
 Standoff Mount (WSDOT)  65
 3' omni (WSDOT, relocated)  65
 Standoff Mount (WSP)  63
 5' omni (WSP, relocate)  63
 Dish Mount  59
 8' MW RAD (WSDOT, Stampede)  59
 Platform  55
 Platform  55
 Platform  55

 2' MW STD (WSDOT, Dodge Ridge)  52
 CCTV  45
 4' MW HP (WSDOT, Stampede)  44
 Dish Mount  44
 Junction Box  42
 CCTV  42
 Junction Box  42
 Junction Box  42
 Platform  40
 Platform  40
 Platform  40
 16"x12" Panel  36
 6' MW HP (PSERN, Stampede)  35
 Dish Mount (PSERN)  35
 Single Loop Dipole  17

MATERIAL STRENGTH
GRADE GRADEFy FyFu Fu

 A572-50  50 ksi  65 ksi  A36  36 ksi  58 ksi

TOWER DESIGN NOTES
1.   Tower designed for Exposure C to the TIA-222-G Standard.
2.   Tower designed for a 85 mph basic wind in accordance with the TIA-222-G Standard.
3.   Tower is also designed for a 50 mph basic wind with 1.00 in ice. Ice is considered to increase in thickness with height.
4.   Deflections are based upon a 60 mph wind.
5.   Tower Structure Class III.
6.   Topographic Category 1 with Crest Height of 0'
7.   TOWER RATING: 78.5%

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Line

Kirk
Oval

Kirk
Typewritten Text
1

Kirk
Polygon



NorthWest Tower Engineering Job Name: 60-ft S.S. (Extend to 90') - WSDOT Hyak, WA Page: A-1 

Project Number: 181700.02 Rev1 Date: 2/9/2018

Client Name: Odelia Pacific / PSERN By: HC

Coax                 
Number

Coax                   
Description

Termination         
Elevation 

Coax 
Key

1 3" Conduit 45'
1" Conduit 45'

3/4" Flex Conduit 45' to 60'
2 1/2" Coax 63'
3 1/2" Coax 63'
4 1/2" Coax 52'
5 EW90 59'

6-8 (3) 3/8" Coax 36'
9 1/4" Coax 42'

10 1/4" Coax (dead) 26'
11 1/2" Coax (remove) 63'
12 1/2" Coax 52'
13 1/2" Coax 44'
14 1/2" Coax 52'
15 1/4" Coax 17'

16 7/8" Coax 90'
17 EW90 80'
18 EW65 35'
19 EW65 85'

PROPOSED FEEDLINES

EXISTING FEEDLINES

2210 Hewitt Ave. Suite 209                                        
Everett, WA 98201-3767
Phone: 425-258-4248                                                
Fax:     425-258-4289

1a

A

C B

N

Face Width Tapers (12' 7-1/8" to 8' 6-3/4")

1a

3/8" Safety Cable & 
Climb Ladder'

New Waveguide 
Ladder

1

2-4
5

6-8
9,10

11-14

15

17

16

18

19

Kirk
Polygon

Kirk
Typewritten Text
1





ROHN Products LLC 
 
1 Fairholm Avenue 
Peoria, IL 61603 
309.566-3021 
309.566-3079 (fax) 

 

Rohn HYAK Quote Page 1 of 1 

 
January 5, 2018          Q18‐101‐002 
 

 
Kirk Wieber, P.E. 
NorthWest Tower Engineering 
2210 Hewitt Ave, Suite 209 
Everett, WA 98201-3767 
Phone: 425-258-4248 
Fax: 425-258-4289 
Cell: 425-239-4995 
www.nwtower.net 
                                  
60FT SSV Tower w/ 30’ extension     File No. 29716AE 
 

Quantity  Part Number  Description  Price 

1  VB947A  GIRT ASSY 8NST L2.5X.19" .5"   $                   93.10 

1  8N24  10' 8NST SECTION   $                937.50 

1  8N124  20' 8NST SECTION   $             1,462.50 

4  NEW  CP50 CAP PLATE   $                   25.00 

4  NEW  50LR CAP PLATE   $                   28.00 

           

           

     
8N74 W/ L2X.25 DIAG NOT L 1.75X.25 NEED CUSTOMER 

APPROVAL    

           

18  VB305  L2X2X.25 DIAG‐GR50   $                991.50 

6  VB306  L2X2X.25 DIAG‐GR50 NEED EOR APPROVAL   $                330.50 

15  210018GA  BOLT ASSY 1/2X1‐1/2 A325 HDG   $                   22.50 

60  210017GA  BOLT ASSY 1/2X1‐1/4 A325 HDG   $                   91.50 

6  210019GA  BOLT ASSY 1/2X1‐3/4 A325 HDG   $                   10.80 

3  KY695  CLIP ASSY ANGLE BRACE LADORW/G   $                   18.00 

4  J44AA  J‐BOLT ASSY 3/8 X 3‐11/16 HDG   $                   12.00 

      9N117 W/L2X.25 DIAG    

6  VB605  L2.00X2.00X.25X127.50 9N D   $                318.00 

6  VB606  L2.00X2.00X.25X134.00 9N D   $                325.50 

6  VB607  L2.00X2.00X.25X139.31 9N D   $                340.50 

15  210018GA  BOLT ASSY 1/2X1‐1/2 A325 HDG   $                   27.00 

36  210017GA  BOLT ASSY 1/2X1‐1/4 A325 HDG   $                   64.50 

3  KY695  CLIP ASSY ANGLE BRACE LADORW/G   $                   18.00 

4  J44AA  J‐BOLT ASSY 3/8 X 3‐11/16 HDG   $                   12.00 



ROHN Products LLC 
 
1 Fairholm Avenue 
Peoria, IL 61603 
309.566-3021 
309.566-3079 (fax) 

 

Rohn HYAK Quote Page 2 of 2 

      10N41 W/3X.25 DIAG BOT BAY & L2X.25 HORIZ    

6  NEW  L3X.25X13.35' GR50   $                811.50 

6  VB2327  L2.00X2.00X.25X57.06 10N H   $                219.00 

6  VB2328  L2.00X2.00X.25X61.08 10N H   $                235.50 

6  VB2329  L2.00X2.00X.25X65.04 10N H   $                246.00 

9  VX4379  BAR FLAT CONN 3X.25X1.46'   $                165.00 

9 
VX4208 

 
BRACKET 2‐4"LEG S9EH1 

 $                469.50 

18  JR84AW  U‐BOLT ASSY 1/2 X 3 W/WASHER   $                   48.00 

3  STBCLSG  CLIP STEP BOLT 7GA 1.25" HDG   $                     8.00 

9  210019GA  BOLT ASSY 1/2X1‐3/4 A325 HDG   $                   18.00 

36  210018GA  BOLT ASSY 1/2X1‐1/2 A325 HDG   $                   54.00 

12  210017GA  BOLT ASSY 1/2X1‐1/4 A325 HDG   $                   18.30 

3  KY695  CLIP ASSY ANGLE BRACE LADORW   $                   18.00 

4  J44AA  J‐BOLT ASSY 3/8 X 3‐11/16 HDG   $                   12.00 

PAL NUTS FOR ALL TOWER BOLTS 

     
TOP 30' TOWER BRACING USING L1.75X.19 NPLACED OF L1.75X.13 

NEED EOR APPROVAL    

ALL PARTS PROVIDED USED ROHN STD CLIPPING EDGE DEST & 
GAGE LINES 

HORIZ DETAILS USING DWG NO. D050019 

ALL MOUNTS BY OTHERS 

  
BRACING OF L2X2X.25 USED INPLACE OF L1.75X.25 NEED EOR 

APPROVAL    

      OPTIONAL ITEMS    

   TT100LAD  SAFETY DEVICE   $                351.00 

  
TT‐WG‐500‐
WSMC 

TROLLEY 
 $                186.00 

   TTFBH‐4D  HARNESS   $                109.00 
 
 
 
 
 



ROHN Products LLC 
 
1 Fairholm Avenue 
Peoria, IL 61603 
309.566-3021 
309.566-3079 (fax) 

 

Rohn HYAK Quote Page 3 of 3 

 
 
 
 
Validity: This quotation valid for 30 days from date of issue. 
 
Estimated Ship Date:  5 to 6 weeks.  Please note that lead times are estimated and can fluctuate due to production capacity. The lead times 
are reassessed upon receiving the Purchase Order and are listed on the Order Acknowledgement. Please contact me to verify current lead 
times or if a better delivery date is possible when placing an order.   
 
Terms:            

1. For established accounts purchase orders are accepted.  (Net 30 days.) 
2. Cash due in advance of shipping order. 
3. Please refer to the attached forms for additional terms and conditions. 
4. Freight quotes assume commercial address no special services. 
5. Sales tax and shipping charges not included. 

 

Shipping: FOB Peoria, IL ‐ Freight to be lined up by customer or paid in advance if lined up by ROHN. 
 
Please return your purchase order by email or address below: 
m.hurst@rohntower.com 
 
ROHN Products, LLC 
PO Box 5999 
Peoria, IL 61601‐5999 
 
Regards,  
 
 
Mike Hurst 
309‐566‐3021 
 

Rohn Terms and 
Conditions.pdf

 




